
 

NON-BERBAL CLASSIFICATION 
 

CLASSIFICATION  

 

 In these type of questions, four figures 

numbered (A), (B), (C) and (D) are given. These 

are treated both problem figures as well as the 

answer figures. Three out the these four figures 

are related to each other by way of having some 

common characteristics and so from a group. 

Out of these four, you have to identify one 

figure which does not belong to group.   

 

Ex 1.  

 

      (A)      (B)       (C) (D)  

 

Sol. (C) Both the arrow heads are in the same 

direction in figure (C). In all other figures, they 

are in the opposite direction, Hence, (C) is the 

answer.  

 

Ex 2.  

 

      (A)     (B)       (C)      (D)  

Sol. (D) Between the shaded portion and the arrow, 

there are two triangles in figure (A), (B), (C) 

and (D). 

 

Ex 3.  

 

    (A)   (B)     (C)    (D)  

Sol. (C) Figures (A) and (D) form a group. The bars 

are interchanged here. Similarly, figure (B) and 

(D). Hence (C) is the odd one out.  

 

EXERCISE 
 

Directions: (1 to 13) Out of the four figures (A), (B), 

(C) and (D), given in each problem, three are 

similar in a certain way. However, one figure is 

not like the other three. Choose the figure which 

is different from the rest.  

 

 

1.  

 

   (A)       (B)        (C)         (D)  

 

2.  

 

 

   (A)        (B)        (C)        (D)  

 

3.  

 

 

     (A)        (B)        (C)        (D)  

 

 

4.  

 

 

     (A)      (B)        (C)         (D)  

 

 

5.  

 

 

     (A)        (B)          (C)         (D)  

 

 

6.  

 

 

      (A)       (B)         (C)         (D)  

 

 

7.  

 

 

      (A)        (B)         (C)          (D)  

 

 

8.  

 

 

      (A)       (B)         (C)         (D)  

 

 

9.  

 

 

     (A)        (B)         (C)         (D)  

 

 

10.  

 

 

     (A)         (B)        (C)         (D)  

 

 

11.  

 

 

     (A)        (B)         (C)         (D)  
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12.  

 

 

     (A)     (B)      (C)       (D)  

 

 

13.  

 

 

   (A)         (B)       (C)         (D)  

 

Directions: (14 to 21) In each of the following 

questions four figures are given. One of these 

figures does not correlate with rest of the 

figures. Find the different figure. 

      (NTSE Stage-I/Raj./2007) 

 

 

14.  

 

     (A)           (B)             (C)             (D)  

 

 

15.  

 

 

   (A)         (B)              (C)              (D)  

 

 

16.   

 

    (A)         (B)            (C)            (D)  

 

 

17.  

 

 

   (A)            (B)              (C)           (D)  

 

 

18.  

 

 

   (A)             (B)            (C)           (D)  

 

 

19.  

 

 

    (A)         (B)            (C)           (D)  

 

 

 

20.  

 

 

   (A)         (B)            (C)            (D) 

  

 

21.  

 

 

     (A)           (B)             (C)             (D)  

 

Directions: (21 to 26) In the following questions, four 

figures are given. Three of them are alike in a 

certain way and one is different. Find the odd 

one from the alternatives.  

         (NTSE Stage-II, 2007) 

 

 

22. (A)   (B)  
 

 

 

 (C)   (D)  

 

 

 

 

23. (A)   (B)   

 

 

 

(C)   (D)  

 

 

 

 

24. (A)   (B)   

 

 

 

 

(C)   (D)  

 

 

 

 

25. (A)   (B)   

 

 

 

(C)    (D)  

 

 



 

 

26. (A)   (B)   

 

 

 

(C)   (D)  

 

 

Directions: (27 to 31) In each question four figures 

are given. One of them does not correlate with the 

rest. Find the different figure.      

(NTSE Stage-I/Raj./2008) 

 

 

27.  

 

     (A)          (B)          (C)          (D)  

 

28.  

 

 

    (A)          (B)           (C)         (D)  

 

29.  

 

 

     (A)          (B)          (C)          (D)  

 

30.  

 

 

     (A)          (B)         (C)          (D)  

 

31.  

 

 

      (A)         (B)          (C)          (D)  

 

Directions: (32 to 35) In each of the following 

questions, there are figures of which three are 

similar in a certain way, and one is different. Find 

the one that is different from the rest.   

   (NTSE Stage-II, 2008) 

 

 

32. (A)   (B)  

 

 

 

 

 (C)   (D)  

 

 

 

 

33. (A)   (B)    

 

 

 

(C)   (D)  

 

 

 

 

34. (A)    (B)    

 

 

 

 

(C)   (D) 

 

 

 

 

35. (A)   (B)    

 

 

 

 

 (C)    (D) 

 

 

 

ANSWER KEY 
 

Que. 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

Ans. A D D C D B D D D B B B D C D 

Que. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 

Ans. D A C B C C C B C B C B C D D 

Que. 31 32 33 34 35  

Ans. A C D D D 

 


